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1 |deiEE 6.4E+0 4 5E+0 1.1E+2 1.6E-3 4.7E-2 124.0
2 |BEHE 1.0E+2 5.0E+1 1.0E+2 1.2E-4 8.3E-3 251.8
3 _|AFER 1.5E+2 11E+2 6.9E-4 2.1E-2 260.4
4 [EHE 1.0E+2 3.3E+2 1.1E+1 7.6E-4 2.2E-2 446.5
5 |RHEER 1.9E+1 3.3E+2 345.0
6 |[ILFR 4.2E+2 3.0E+1 2.1E-5 8.3E-4 453.2
7 |&REBE 8.8E+1 2.6E+0 2.3E+1 2.6E-3 3.4E-2 113.2
8 |REE 1.5E+2 5.4E+1 3.4E+1 3.1E-3 5.8E-2 234.7
9 [HARE 3.7E+1 7.0E+0 6.8E+1 2.1E-2 3.2E-1 111.9
10 |HER 5.4E+1 6.5E+0 3.4E+1 3.2E-3 4.2E-2 945
11 |BER 2.4E+1 6.5E+0 3.4E+1 1.2E-2 1.7E-1 65.1
12 |FER 1.1E+2 2.0E+1 5.7E+1 3.8E-3 1.0E-1 187.7
13 |REHD 7.3E-2 1.1E+1 1.0E-2 8.2E-2 11.5
14 [wZE)IE 3.6E+1 4 9E+0 4 5E+1 8.5E-3 2.4E-1 86.0
15 |3RE 7.3E+1 6.9E+0 1.1E+1 5.8E-3 7.7E-2 91.4
16 |EWE 1.4E+1 7.6E+1 6.8E-3 2.0E-2 89.9
17 |BNE 2.8E+1 1.8E+0 1.1E+1 5.5E-4 6.5E-3 41.3
18 |f@HAR 2.0E+1 8.5E-1 1.8E-3 4 4E-2 20.4
19 |IWFRE 1.5E+1 6.7E-2 6.8E-6 9.4E-4 14.7
20 |EHR 2.8E+2 6.9E+0 2.3E+1 7.2E-5 1.1E-3 312.6
21 |IFRE 4 8E+1 2.2E+0 2.3E+1 1.3E-3 3.9E-2 72.9
22 |FEEER 6.7E+2 1.3E+2 1.1E+1 2.2E-3 3.9E-2 811.7
23 |BHIE 1.3E+2 1.2E+1 1.1E+1 5.5E-3 4.7E-2 151.2
24 |[=ER 1.3E+2 1.0E+1 2.3E+1 1.8E-3 3.9E-2 162.9
25 |#ER 3.3E+1 2.1E+1 1.1E+1 66.0
26 | AT 4.0E-3 1.1E+1 1.8E-4 8.1E-4 11.3
27 | KBRFF 4.7E+0 4.2E-1 2.1E+2 5.2E-2 5.6E-1 220.4
28 | EER 3.7E+0 7.7E+0 3.4E+1 2.0E-2 3.3E-1 457
29 |XRR 2.2E+2 2.2E+0 1.1E+1 231.3
30 |[FnERLE 1.3E+3 2.6E+0 9.9E-4 2.0E-2 1,260.3
31 |BRE 4.2E+1 2 AE+0 2.0E-4 2.1E-3 44.7
32 |ERE 9.0E+0 9.6E-1 10.0
33 |EWLE 3.8E+1 4.1E+0 1.1E+1 3.5E-2 4.9E-1 54.4
34 |[LEBR 8.0E+1 5.0E+0 2.3E+1 5.3E-3 5.5E-2 107.7
35 [ILAOE 7.9E+0 2 1E+0 10.0
36 |fESR 8.7E+0 1.3E+0 10.0
37 |BINE 8.5E+0 1.7E+0 1.6E-3 1.3E-2 10.2
38 |ZRE 1.9E+1 1.5E+0 1.1E+1 2.0E-4 11E-2 31.4
39 |SHE 1.3E+2 9.2E-5 8.9E-4 130.0
40 |fEREE 1.4E+2 9.6E+0 2 3E+1 2.3E-2 3.2E-1 174.7
41 |EER 9.7E+1 2.3E+1 2.6E-3 1.4E-2 120.2
42 |RIGE 2 0E+1 20.0
43 |RERE 1.1E+2 2. 6E+1 2.3E-5 3.7E-4 134.7
44 | KHE 4 6E+1 3.6E+0 50.0
45 | EIBE 6.0E+1 1.5E-5 2.1E-4 60.0
46 |[ERBE 1.9E+1 3.1E+1 1.1E+1 8.2E-5 3.0E-3 61.4
47 g 2.9E_1 1.7E-4 2.2E-2 0.3

2E 4.9E+3 1.6E+3 1.0E+3 2.4E-1 3.3E+0 7,419.2 |
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